1-274

BHT7FN70-95 7%

4P—4

FE AT MK ET %% it

TRERFETEHR

1 Ui

VIFNTO—ST 7R VAT ARY KNI EEHD
HRBHBEFEFEWVRI DD VLT RBTEIIEWESF
NTHE ZOYTFLTIO—FF5 7% ¥a—%F
TEREIDPOHMEILER, BFT24200RKHEFL
ELT, FIT7TXERRAVTERIELA Y Y 70—
777 XEEBICHRE L [2).

KWETR, >FHr70-rF 71 T2 583 X
IR EET 2O EFLVE L TR Y F AT
OD—-757XEXERLTE. R, SoOXFELESH
TYATLADEZEEMOMER+ BHT 201 EH
LB BRBRICOVWTER TS, T7-, T&L7:
Eﬁfﬁ71&u§dwf%ﬁLt&7%w7n—75
7 - N R EBRIIOWVWTEBET 2,

2 BRI/ ATO-TSIwHE

TR 1 (B 7PV 70-275 730H)

BRIV 7B-T57X8E LIRROLEYHT 3

B (Gsignat, A, F) TH 5.

(1) Gsignat = (Znsspuats Ltsiyunrs [SFG], Psignat) 123
FFNT7U-=TI3 7% 2] THY, AGGsignai
DEES T TXHE EREING. T=T,US Loy
77 D= (V,E,A) L, Lab(D) = {A(n)|n €
V} &t 5,

() GOHE/—F7AL77xy X € THHLT,
BEVREZ2DO0ERESTHL BEBRE DES
I(X) & SHERHE DES S(X) 1B LTVE. X
DERBEEHDESY AX)=I(X)US(X) TEKT
A= Uygep AX) & AGG 0 BHEEE 5. 7
ELIS)=¢ &3, 37, X DB¥% a % a(X),
a LY S AELBOKLEE V() TET.

3) PDETU¥2iavp = (A == B,C)stL
T Uxaerasa)S(Xa) UUxperars I(Xp) ®
BENAETNTERT 2 BRER OKE F, #
LTS, BY ao(Zi,) ZTHET 2 EHRBH
i3, GD(Z;'O) = f(al(Z.‘,), ---,am(Z.-,_)), Z,'J. €
Lab(A) U Lab(B),0 < j < mEtnIEELT

*Attribute Signal Flow Graph Grammar

tYuichi Nakajima, Suguru Kobayashi, Yoshihiro Adachi,
Department of Information and Computer Sciences, Toyo
University

Wahf i V(a(Zi,)) x - x Viem(Z;,)) 5
V(ao(Zi,)) ~DERTHE. DLk, ao(Z;,) 1%
piZBnT a_,-(Zgj)(l Li<m) IEKFTH LW,
BE F=UepF, 2 GO EBNBRILS L),
0

CORMBY T FNIO-FSIXELAVTI AT A
ROEBESMOMER L BT 520 0B L FrkEH)
TERMTE. PPN T70-7 5 7 XFEDOERE /) —
F7RT 7Ry b D0 ERB/—F7 L7 7Ny b
Lisigna T Fig. HWIRL, &/ - FIZHH S 2B %
Fig. 2077, 37, CHOOREOEAHNS 270
KERLCERBRERET 270527030 b42
Fig. 3137,

Nonterminal node alphabet | Terminal node alphabet
znsuml }:lSignd
[SFG) : start label © :inpuwt
[Node] : nonterminal
node ® : output
[Branch] : nonterminal
branch O  :node
[Branches) : nonterminal
branch list — :branch
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Synthesized attribute : ~ For X € X
signal(X) : the relationships of signals

signal_in(X) ' : the input signal
signal_out(X) : the output signal
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pl. [SFG] , u= (c}——-»[E.ranches-]ﬁ—-@ya C=Q

yl
signal_in(x1)=0 signal_out(x2)=0
signal(x])={input_id(y2)<-Input(yl), Output(v3)<-output_id(y2))

U signal(y2)
p2. [Branches]  :i= [Branch}——[Node}———[Branches]
xl ¥l 2 ¥3

C={(x1,yl,in),(x1,y3,0ut)}
signal_in{x1)=signal_in{(y1) signal_out(x1)=signal_out(y3)
signal(x1)={input_id{y2)<-output_id(y1), input_id(y3)<-output_id(y2)
v signal(y!) u signal(y2) signal{y3)

p3. [Node]  [Node) i:= [Node}—[Branches}—=[Node]
x1 x2 ¥l y2 ¥3

C={(x1,yl,in),(x1,y1,0ut),(x2,y3,in),(x2,y3,out)}
signal_in(x1)=input_id(y1) signal_out(x!)}=output_id({y1)
siganl_in{x2)=input_id(y2) signal_out(x2)=output_id({y2)
signal(x1)={output_id(y2)<-input_id(y1)} U signal(y 1)y signal(y2)
signal(x2)={input_id(y3)<-output_id(y2)}  signal(y3)

p4. [Branch»:s)xl = (Branch]y1 C=((x1,yl.in).(x1,y1,0ut)}

signal_in{x1)=signal_in(y1)
signal(x1)=signal(y1)

p5. [Node]ﬂ = O ”

signal_in(x D=input_id(y1) signal_out(x1)=output_id(y1)
signal(x1)={output_id(y1)<-add(input_id(y 1))}

signal_out(x1)=signal_out(yl)

C={(x1,ylLin),(x1,yl,0ut)}

p6. [Branch) L = = C={(xl,y1,in),(x1,y1l,0ut)}
x

yi

signal_in(x )=1nput_id(y1) signal_out(x1)=output_id(yl)

signal(x1)={output_id(y 1 )<-Trans(get_name(y1))<-input_id(y1)}
Fig. 3. 7u¥ 2 a3 » & Bk
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signal_in(i1)={v]} signal_out(11)={v2}

signal{i)={v2<-v1}
signal_in(12)={v3)
signal(i2)={vd<-v3}
signal_in(13)={v5,v6)
signal(13)={v7<-v5+v6}

? x5 (BH

1 B 14 { il ® 15 lNll B 17 KNEJ 18 10

signal_out(12)=(v4)

signal_ouwt{13)={v7}

signal_in(14)={v7} signal_out{15)={v8&)
signal{ 14)=(v8<-Trans(G!)<-v7}
signal_in(15)={Vv9} signal_out{15)=({v10}
signal(15)={v10<-Trans(G2)<-v9
signal_in{16)={vil} signal_out(16)={vl2}
signal(16)={v12<-Trans(G3)<-vil)
signal_in(17)={v13) signal_out{17)={v14)
signal(17)=(v14<-Trans(Gd)<-v13)
signal_in{18)={v1S$) signal_out{17)={v16)
signal(18)={v16<-Trans(G5)<-v15)
signal_in(1{)={vi} signal_out(i1)={v2)
signal{(i1)={v2<-vl)
signal_in(12)={v3)
signal{12)=vé<-v3}
signal_in(13)={v5,v6} signal_out(13)={v7}
signal{13)={v7<-v3+v5)

Bs)
= x2 //q 19
)
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signal _in{19)={vil) signal_out(19)={v12])
signal(19)={vi2<-Trans(G3)<-v11}
signal_in{20)=(v[5) signal_out{20)={v16)
signal(20)={ vl 6<-Trans(G5)<-vI15)

signal_in{1 1)={vl]) signal_oui(11)={v2)
signal(t1)={vi<-vl}
signal_in{12)={v3}
signal{12)={v4<-v3}
signal_in{13)={v5.v6)
signal(13)={ v7<-vS+v6}
signal_in{14)={v?} signal_out(15)={v8]
signal(14)={v8<-Trans(Gi)<-v7}
signal_in{15)={v9} signal_out(15)=(v10}
signal{15)={v10<-Trans(G2)<-v9}
signal_in(17)={v13) signal_oui(17)=({vl4)
signal(17)={ vl4<-Trans(G4)<-v13)

?Q B N B N B b (N (B =@

signal_owt(12)={v4}

signal_out(12)={v4)

signal_out(13)={v7}

signal_in(22)}={v6} signal_out(22)={v7)
signal{22)}={vS5<-vi2, v7<-v5+v6])
signal_in(2 [ )y=({vl} signal_out(21)={v2}
signal(21)=(vll<~2, v12<-Trans{G3)<-v11, vi<-vi}
signal_in(12)={v3} signal_out{12)={v4}
signal(12)=(v4<-v3)

signal_in(14)={v7} signal_out{15)={v8}
signal{14)=( v8<-Trans(G1)<-v?)
signal_in(15)={v9} signai_out(15)={v10}
signal(15)=(v10<-Trans{G2)<-v9}
signal_in(17)={v13} signal_out(17)={vi4)}
signal(17)={v14<-Trans(G4)<-v13}
signal_in(20)={v15} signal_out(20)={v16}
signal(20)=( v16<-Trans(G5)<-v15}

x1
& @

signal_in(25)={v7} signal_out{25)=(vi6}

signal(25)={v8<-Trans{Gl)<-v7, v10<-Trans(G2)<-v9,
v12<-Trans(G)<-vl i, vide-Trans(Gd)<-v13,
v16<-Trans(GS)<-v1lS, v2<-vi, vl l<-v2, véc-v3,
vE<-v14, v5<-v12, vT<-vi4vE)

p—_1> 1SFGl 5

signal_in(26)=D signal_out(26)=J

signal(26)={v7<-Enput(In}, cutput(Out)<-v16, v8<-Trans(Gl)<-v7,
v10<-Trans(G2)<-¥3, v12<-Trans(G3)<-v1l, vil<-v2,
vid<-Trans(G4)<-v13, vib<-Trans(GS)<-v1S, v2<-vl,
v4<-v3, vo<-v14, v5<-v12, v7<-v5+v6)
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